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SECTION 9

FLOW DUALITY 2 SGS



network Flow

so it FIETEALE
constraints
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1 while there is a patent in the

residualgraph fill muhas
possible

2 Update residual graph

so so

send flowalong s Ast path
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so

send flow along 5 B Tpath
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no flow can passfrom s t

anymore in the residual graph
so we are done

I Have also found the win out
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In LP we try to maximize
variables subject to certain constraints

uariables

qargej.snthe duel we pretend to be the
taints We place on upper bound

on the value of the objective using the
constraints But constraints can't be too strict
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new variables are now coefficients of the
constraints



Want to choose weffuints so we can get
an inequality that contains theobjective

Max P 2B
LN we can hound it

Xen GE e 4001 variables are in much
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add them together
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x zz za inequality is an even

better upper bound

coefficient of P in theprimal objective

yt3 2 coefficient ofBinney



primal

Want to minimize the upper bound
obfhtine

Constraints want to makeprimal objective

small
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vector formulation comparison
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2 players
Maximizer tries to make score mine
positive
Minimizer tries to make more more

negative

payoff matrix grid y eptions
Minimizer iolumns

maximizer roues gT2 I

Each player wants to choose the optimal
probability distribution

to get the highest

lowest score

Expected payoff bij Prob

Row plays in column plays j

Assume that the Row player announces
their distro first Then the columnplayer
will choose the option that minimizes
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Rowplayer wants to maximize this
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very wat fact using this same logic

for the bolumn player gives you the
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